MWHWCTEPCTBO OBEPA30OBAHWA 1 HAYKM POCCUNCKOW ®EOEPALNN

KypraHckuni rocyaapCTBeHHbIN YHUBEPCUTET

Kaqbeapa UHOCMPAaHHbIX A3bIKO8 MexXHU4YecKuUx crieyuarnbHocmeu

AHITIMNCKUA A3bIK

[MpakTukym
MO pPa3sBUTMIO HABbIKOB YTEHUS, NepeBoaa n pedepmnpoBaHnst TEKCTOB
0051 CTYOQEHTOB 2 Kypca negarorn4yeckoro akynbteTa
cneymanbHocTn 050502
«TexHos102U51 U NPeONPUHUMamesIbCmeo»

KypraH 2010



Kadeapa MHOCTPaHHbIX A3bIKOB TEXHUYECKUX CneunanbHOCTEN
Oucumnnuna: « AHIMNCKUIA S3bIK»

CoctaBun: pgoueHT, kaHg. ounon. Hayk T.M. CmakoTuHa
YTBepxaeH Ha 3aceganun kadenpbl 22.04.2010 .

PekomeHaoBaH METOANYECKMM COBETOM YHMBEPCUTETA
25.05.2010 .



PartI. SOME PRINCIPLES OF MARKET ECONOMY

Text 1. The Role of the Market in the Economy

At the centre of the analysis of the allocation of resources through the price
system is the notion of a market. We can think of a market as a place where people
get together to buy and sell, haggling over the prices of goods. But the term “market”
has a broader meaning.

A market is a set of arrangements by which buyers and sellers of a good are in
contact to trade this good.

In most countries now the market plays a central role in determining what gets
produced, how and for whom. We can think of markets as particular places where
some people bring goods to sell and others come to buy — for example produce
markets in many cities. Or we can think of a market such as the stock market where
people call on the telephone to buy and sell stocks. But we do not need to go onto
these details. We use instead a general definition of a market that fits those cases and
others.

The market is a shorthand expression for the process by which consumers’
decisions about the consumption of alternative goods, firms’ decisions on what and
how to produce and workers’ decisions on how much and for whom to work are all
reconciled by adjustments of prices.

Prices of goods and resources such as labour, machines and land change to
ensure that the limited supplies of resources are used to produce those goods and
services that society demands.

Much of economics is devoted to studying how markets and prices enable
society to solve the basic what, how and for whom problems. You can get a feeling of
how markets and prices work by thinking of your typically daily purchases. For
example, suppose that you buy a hamburger for lunch at a fast-food restaurant. What
do the market and prices have to do with that?

There is first your side of the deal. Given your desire to eat and your limited
resources, the low price of a hamburger told you this was a good way to satisfy your
appetite. Probably you prefer steak, but that has a higher price. The price is high
enough to ensure that society answers the for whom question about lunchtime steaks
in favour of someone else.

Then there is the seller’s side. The restaurant owner is in the business because
given the price of hamburger meat, the rent and the wages he has to pay, he can sell
the hamburgers for a price that is high enough to produce a profit. If the rent were
much higher, he could not operate a hamburger restaurant in this place. He might
want to be in the same business somewhere else or maybe in some other business. As
it is, though, the prices at which he can sell his product and buy the resources he
needs to produce hamburgers are at levels that lead him to put his money into his
business.

The student behind the counter is working there because the wage he receives
1s the best wage he can get for the type of part-time work he wants. The best wage he
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can get is still pretty low because there are many people who want this type of job. If
the wage were much lower, though, he would probably look for a different job. Or
perhaps he might stop working altogether and try to borrow money to pay his way
through college.

Prices are guiding your decision to buy a hamburger, the owner’s decision to
sell hamburgers and the counter help’s decision to take the job. Society is allocating
resources — the meat, the building, the labour — into the production of hamburgers
through the price system. If no one liked hamburgers, they couldn’t be sold at a price
that covered costs, the owner of the restaurant wouldn’t be in the hamburger-selling
business, the society wouldn’t be devoting any resources to hamburger production. It
is people’s desire to eat hamburgers that guides resources into hamburger production.
If the price of beef rose very high, the price of hamburgers would increase, and
people would begin to eat more tuna fish sandwiches. Thus we get some idea of how
prices enable society to allocate resources.

There were several markets involved in your purchase of a hamburger. You
and the restaurant owner were in the market for fast foods. The student behind the
counter is part of the local labour market. The restaurant owner is also a buyer in the
local wholesale meat market and in the local rent market for buildings.

In each market, the adjustment of prices to allocate resources is the main idea.

Vocabulary
1. allocation — pa3MeleHue (pecypcoB)
2. notion — MIOHSITHE
3. buyers and sellers of a good — nmokymnarenau u MpoAaBIEl TOBapa
4. to trade — TOProBaTh
5. consumer — HIOTPEOUTEIb
6. consumption — noTpediaeHune
7. adjustment — YperyJIupoBaHHe, COTIACOBAaHUE, YIaKUBAHNE
8. to reconcile — IPUBOJUTH B COOTBETCTBUE, COTJIACOBHIBAT,
IPUMHPSATH
9. goods and services — TOBapbl U YCIyru
10. to solve problems — pemaThk TpoOIeMbl
11. deal — C/IeJIKa, COIJIallIEHHUE
a deal of — 00JIbIIIOE KOJTUYECTBO
12. profit — TOXO[,
13. wage — 3apaboTHas 1aTa
14. to borrow money — 3aHUMAaTh JE€HbI' 1
15. the price system — CHCTEMA LIEH
16. purchase — MOKYIIKa
17. wholesale — OITOBBII

1. Answer the following questions.

1. Are prices in free market economies stable or flexible?

2. When do prices go up and when do they fall?

3. Why do students take part-time jobs in fast-food restaurants?
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4. What would happen to hamburger trade if wholesale meat prices rose?
5. What would happen to hamburger prices if people stopped eating hamburgers?
6. What makes hamburger trade so active in the United States?

1. Speaking Practice

Suppose you want to open a fast-food restaurant. Discuss the three alternative
locations:

a) in the centre

b) in the outskirts of the city

¢) on a highway leading out of the city

Text 2. Money

The task of commerce is the exchange of goods. In earlier times it was done on
the basis of barter, i.e. goods were exchanged for goods. The huntsman, who had
more meat than he or his family could eat, exchanged some meat for some fish of
which his neighbour had too much. The Phoenician merchants took the spices of the
East and the purple dyes of Tyre to the coast of Cornwall in exchange for tin, or to
the Baltic for the much-prized amber.

But it is obvious that such a primitive system cannot satisfy the needs of a
more highly developed economic system. If [ want to exchange a big piece of meat
for, say, a pair of trousers, I have not only to find a man who at that same time has a
pair of trousers that he wants to exchange. Moreover, the man with trousers may want
only a small piece of meat — a far smaller piece than the trousers are worth and,
though I could cut off a piece of my meat to supply his needs, he can’t cut off a
portion of the trousers of equivalent value in exchange. And that brings us to another
factor, namely the need for a measure of value that barter doesn’t supply. Again,
though the possessor of the trousers can afford to keep his goods and wait until
perhaps he can get what he wants for them, I can’t keep my meat very long without
its going bad. What is needed, then, is some commodity which can be used as a
medium of exchange and at the same time as a measure of value.

This commodity we call money. Money is any generally acceptable means of
payment in exchange for goods and services and in settling debts. It can take and has
taken various forms. In China they used tea pressed into bricks. The Incas of Peru
used cocoa beans. The ancient Romans (and other people) used cattle; other
civilizations used salt, furs, ivory, shells, olive oil, tobacco and dried codfish. In
prisoner-of-war camps cigarettes served as money.

These are called commodity money. Commodity money is used as a medium of
exchange and also is bought and sold as an ordinary good. Commodity monies are as
valuable in commercial and other uses as they are as money. When cocoa was used as
both money and drink, it had the same value in both uses. How do we know that? Ask
what would have happened had cocoa been more valuable as money. Then no one
would have drunk it. If it had been more valuable as a drink, people would not have
used it for money. Thus it had the same value in both uses.

The “precious metals” gold and silver (and to a lesser degree copper) were the
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best sort of commodity money, because they possessed most ideally the qualities
needed. Thus they, unlike the big piece of meat, have acceptability (they will be
taken willingly by anyone in exchange for goods and can be easily recognized for
what they are), divisibility (they can be divided into small pieces and can be melted
and re-united without loss), durability (they will not easily wear out or go bad) and
portability (considerable sums of them can be carried around) without too great
inconvenience).

Gold fulfils all these functions best and has been adopted by almost every
nation in the world as the standard medium of exchange. Nowadays, however, though
gold may be used for setting international indebtedness, its place as a medium of
exchange for internal purposes has been largely taken by paper money. In England,
until 1914, gold coins — the sovereign and the half-sovereign — were used as money,
and bank notes could be converted freely into gold sovereigns at any bank. But owing
to the economic difficulties of the war, in 1914 gold coins were called in and their
place was taken by “Treasury Notes”. Gold coins have now disappeared completely
from circulation.

In the earliest stages of the use of gold as money it was usually weighed out in
bars. Later, to overcome the inconvenience that this caused, it was made into coins,
1.e. pieces of metal stamped to guarantee its weight and fineness.

One of the reasons for the rapid spread of the use of coins was their
convenience. In situations where coins were generally acceptable at their nominal
value there was no need to weigh them and in everyday transactions where relatively
small numbers were involved counting was quicker and far more convenient than
weighing.

True coinage developed in Asia Minor as a result of the practice of the
Lydians, of stamping small round pieces of precious metals as a guarantee of their
purity. Later, when their metallurgical skills improved and these pieces became more
regular in form and weight, the seals served as a symbol of both purity and weight.
The use of coins spread quickly from Lydia to lonia, mainland Greece and Persia.

In Britain, coins are made at the Royal Mint, established at the Tower of
London by William the Conqueror in the 11™ century, but transferred to its present
building on Tower Hill in 1798.

In addition to metal coins there is a vast quantity of paper money (far
exceeding the metallic currency). Unlike gold, paper money is token money, that is
its value or purchasing power as money exceeds the cost of production and the value
in alternative uses.

A hundred pound bill, for instance, costs much more than a piece of high-
quality paper.

Coins and bank notes are used almost entirely in direct payments because to
send them by post for payment of debts at a distance is not only inconvenient but
involves considerable risk of loss or theft. For these payments other methods are
available.

Vocabulary
1. barter — OapTep, MEHOBasi TOPTOBJIs, TOBApOOOMEH
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8.

9.
10.
11.
12.
13.
14.
15.
16.
17.
18.

Phoenician merchants — ¢uHUKHNCKHE KyMIIbI

spices — CIIELIUH

the purple dyes of Tyre — nmypmypubie kpacku Tupa (GUHUKUECKUN TOPOT)
tin — 0JIOBO

amber — SIHTaphb

value — IIEHHOCThH

valuable — LIEHHBIH

to afford — MIO3BOJIUTH ceOe

a medium — CPEACTBO; TOCPETHUK
acceptable means — IpUEMIIEMOE CPEACTBO
acceptability — MIPUEMJIEMOCTD

durability — JOJITOBEYHOCTh, U3BHOCOCTOMKOCTh
to fulfil — BBIIIOJIHSATH

indebtedness — 33JI0JDKCHHOCTD

bar — CIIUTOK

Mint — MoHeTHBII JBOD

to involve — BOBJICKATh

bill — amep. Kymopa, 0aHKHOTa

1. Answer the following questions.

A

Why is barter inconvenient?

What commodities were used as money?

What basic qualities must money possess?

When was gold withdrawn from circulation in the UK?

Why is gold no longer weighed out in bars?

When do people stop using money and resort to barter? If you can’t think of such
occasions in your own life, ask your grandparents how they got food during the
war. Try to explain why they exchanged their clothes for food instead of buying
food.

1. Speaking Practice. Comment on the following quatations.

l.

2.

3.
4.

Money speaks sense in a language all nations understand. (Aphra Behn, 1640-
1689)

If you would know what the Lord God thinks of money, you have only to look at
those to whom he gives it. (Maurice Baring, 1874-1945)

The love of money is the root of all evil. (New Testament)

No man should be in public office who can’t make more money in private life.
(Thomas E. Dewey, 1902-1971)

11I. Writing practice
Write an essay supporting one of the opposite opinions given below.

I.
2.

Some people believe that young people should work for their spending money.
Other people believe that young people should be given an allowance (spending
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money given at a regular interval) without having to work for it.
Text 3. Taxation

Governments in the United States — federal state and local — together collect in
taxes about one third of the GNP (gross national product) or total income earned in
the country. The government is financed primarily by taxes. A small part of
government revenue comes from fees and charges by government services, but most
of the revenue is from taxes.

At the federal level, the tax money is spent mainly on national defense, Social
Security and welfare. Education, highways and social welfare are major spending
categories for state government. Government in the United States provide health
services, the Library of Congress, the services of FBI and CIA, the national parks and
much more.

Historically, customs duties and tolls were the main sources of tax revenue.
They were easy to raise in ports and at crossroads, and there was no need for an
elaborate bureaucracy to administer the tax system. We are very far from that today.
Tax revenue comes from taxes on labour and capital, from property taxes, and from
taxes on retail sales or on the sale of specific commodities such as tobacco or liquor.

Here we single a few taxes for special discussion.

The payroll tax is a tax on wages. It is actually the individual’s contribution to
the Social Security system, which entitles the contributor to retirement and disability
payments. But because it is not voluntary, we call it a tax rather than an insurance
premium. Contributing to the Social Security system is made compulsory on the
argument that people may not be sufficiently far-sighted to provide for their own
needs in retirement and in case they become disabled.

The capital gains tax is the tax on the amount by which the value of the asset
has risen. Someone who buys a share of Ford Motor Company for $18 and later sells
it for $26 has a capital gain of $8. He has to pay taxes on that gain of $8.

The property tax is a tax on houses and land and it accounts for less than 8% of
total government revenue.

The chief source of government revenue is the personal income tax which
accounts for more than one-third of total revenue.

We should also mention the value-added tax or VAT. VAT is widely used
outside of the USA, especially in Europe. As the name suggests, VAT is a tax on the
value added to a good in production. VAT 1is special because it is levied at every
stage of production and sale — when goods are sold by producers to wholesalers,
when retailers buy from wholesalers and ultimately when retailers sell to the final
consumers. What is taxed at each stage is only the value added, which is the sales
price less than the cost of purchased inputs. Thus, the retail store that buys goods
from a wholesaler is taxed only on the retail sales price less the wholesale price.

By adding all the taxes collected at different stages, we realize that VAT works
out to be the same as a general retail sales tax levied at a common rate on all goods
sold in the economy.

Thus the VAT is equivalent to a retail sales tax, but it is collected at several

stages in the production and distribution process.
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Taxes are collected in different ways. The United States relies relatively
heavily on income and corporate profits taxes, while European countries rely
relatively more on revenue through VAT. Of course, in the USA retail sales taxes are
also used at state and local levels.

There are also excise taxes on specific goods and transactions, including
mainly alcohol and tobacco.

The tax system must raise a certain amount of revenue to finance government
activities.

How to Tax Fairly. Economists, to say nothing of taxpayers, have long been
concerned about how the benefits and the burdens should be spread. There are two
main ethical precepts that are widely accepted. The first is horizontal equity and the
second is vertical equity. The rule of horizontal equity is that equals should be treated
equally by the tax laws. The rule of vertical equity is that unequals should be treated
unequally.

Applying these principles is difficult. The first problem is defining equals. We
might start with current income, but that is certainly not a reasonable measure of how
well off a person is. A medical student earning the same income as a janitor is better
off than the janitor, for the medical student has the higher lifetime income. Perhaps
we should define equals by their lifetime incomes.

Even defining equals by lifetime incomes raises difficult issues. Consider two
people, each of whom earned the same income while working. Both are now retired.
One saved while he was young and lives well. The other had a good time while he
was young and lives very poorly now. Are they equal? Or consider two people, each
working at the same factory, doing the same work, getting the same pay. One of them
is married and has children, and the other is single. Are they equal? Different states
deal with these difficult cases in different ways.

Vocabulary

1. taxation — HAJIOr000JIOKEHUE

tax — HaJIoT
2. revenue — 10XO0[
3. charge — 11aTa (3a yciyru)
4. customs duties = — TaMO>KEHHBIC MOILITHBI
5. tolls — MIOIIMHBI, COOPBI
6. retail sales — PO3HUYHAS TOPTOBJIS
7. commodity — TOBap
8. to entitle — JlaBaTh MPaBo
9. payments — BBIILJIATHI
10. voluntary — TOOpPOBOJIBLHBIN
11. insurance — CTpaxOBaHUE
12. compulsory — 00s13aTENBHBIN
13. gain — 10X0/J1, IpUOBbLIb, IPUPOCT
14. wholesalers — ONTOBUKHU

15. inputs — JICHEXKHBIE BIIOKEHHUS, BKJIA b
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16.
17.
18.
19.
20.

to levy — cobupath, B3UMaTh

excise — aKIu3, aKIU3HbBIN (cO0p)
transaction — c/IeJKa, J1e10

taxpayers — HaJIOT OILIaTEIbIIUKU
equity — IPaBO CHPaBEIUBOCTH

1. Answer the following questions.

Sk W=

Why are taxes necessary?

What activities are financed with the tax money?
How were the first taxes collected?

What taxes do American citizens pay?

What taxes do we pay in Russia?

Do you think taxes in Russia are too high or too low?

11. Comment on the following statements, agree or disagree with them.

l.

2.

Taxation without representation is tyranny. (the slogan of the American
Revolution)

Money is much better off in the hands of the average citizen than it is in the
greedy hands of those who live off the public payroll.

The government must provide “a safety net” for the citizens, so that those who
need assistance get it.

The higher the unemployment benefits, the less incentive an individual has to look
for a job.

Ill. Take the above statements into account when discussing the topic suggested
below.
The advantages and disadvantages of low and high taxes.

1V. Think over whether the social benefits below result from high taxes or low taxes.

a) free health care and free higher education;
b) alot of welfare programs;

c¢) an intensively developing economy;

d) alot of jobs;

e) good conditions for investment.

V. Write an essay covering the topics listed below.

1. Many British pop stars and Russian businessmen move to other countries to

avoid paying high taxes or they put their money in offshore accounts. Which country
nearest to yours offers tax-free, offshore accounts? Do you think offshore accounts
are a good idea? Why? Why not?

2. If I had a lot of money, I would:
a) spend it;

b) invest it in a Russian company
c) put it in a bank;
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d) move it to an offshore zone to avoid paying taxes.
Text 4.
Read and translate the text, paying close attention to the structures underlined.
Below you'll find special explanation and exercises devoted to these structures.
The Great Depression

The “roaring twenties” was an era when the USA prospered tremendously. The
rapid increase in industrialization was fueling growth in the economy, and technology
improvements had the leading economists believing that the uprise would continue.
During this boom period, wages increased along with consumer spending, and stock
prices began to rise as well. Billions of dollars were invested in the stock market as
people began speculating on the rising stock prises.

The core of the problem was the immense disparity between the country’s
productive capacity and the ability of people to consume. Great innovations in
productive techniques during and after the First World War raised the output of
industry beyond the purchasing capacity of US farmers and wage earners.

Thursday, October 24, 1929 has the dubious honor of being called Black
Thursday because it was on this day that the New York Stock Exchange crashed
heralding the end of the “Roaring Twenties” and the beginning of the Great
Depression. By the end of the day New York Stock Exchange had lost four billion
dollars and it took exchange clerks until five o’clock a.m. the next day to clear all the
transactions. By the following Monday, the realization of what happened began to
sink in, and a full-blown panic ensued.

A wave of panic selling of stocks swept the New York Stock Exchange. Once
started, the collapse of share and other security prices could not be halted. Trying to
sell their holdings before they lost their value, investors contributed to the panic that
would drag the world into the Great Depression.

Thousands of ordinary working people were financially ruined. By 1932
thousands of banks and over 100,000 businesses had failed. Industrial production was
cut in half, farm income had fallen by more than half, wages had decreased 60 per
cent, new investment was down 90 per cent.

One out of every four workers was unemployed. Bread lines appeared in most
cities. Hundreds of thousands roamed the country in search of food, work and shelter.
Farmers were hit especially hard during the Depression. Having borrowed huge sums
of money from banks in the 1920s — in order to purchase seed stocks and farm
equipment — they were in serious financial debt when the crash came. As the wave of
economic depression rolled across the country, farmers were unable to repay their
loans. As a result, banks, which were also struggling to make ends meet, foreclosed
on their land thereby forcing farmers out of their homes. Many farmers resorted to
migrant labour, as it was the only source of income to be found.

The Republican president, Herbert Hoover, asked employers not to cut wages
and he tried to reduce interest rates and support farm prices. In 1932 he approved the
creation of the Reconstruction Finance Corporation, which loaned money to troubled
banks.

But these measures were inadequate to deal with the economic collapse, and
11




Hoover resisted proposals for federally funded relief and work projects. He assured
the public that recovery was “just around the corner”, but the economy continued to
decline. To masses of unemployed workers Hoover seemed uncaring and unable to
help them. In 1932 election, he was resoundingly defeated by Democrat Franklin D.
Roosevelt, who promised “a New Deal for the American people”.

Jaunty, optimistic and a commanding public speaker Roosevelt, a former
governor of New York State, was able to inspire public confidence as Hoover could
not. Roosevelt took prompt action to deal with the emergency. Within three months —
the historic “Hundred days” — Roosevelt launched a great number of programs aimed
at aiding the recovery of the economy. The Civilian Conservation Corps (CCC) put
young men to work in reforestation and flood control projects. The Agricultural
Adjustment Administration (AAA) paid farmers to reduce production, thus raising
crop prices. The Tennessee Valley Authority (TVA) built a network of dams to
generate electricity, control floods and manufacture fertilizer. And the National
Recovery Administration (NRA) regulated fair competition among businesses and
ensured bargaining rights and minimum wages for workers.

In 1935, the Social Security Act established old-age pensions, as well as a joint
federal-state program of unemployment insurance. The Wagner Labour Relations Act
banned unfair employment practices and protected the worker’s right to collective
bargaining and forming unions.

The Works Progress Administration (WPA) was one of the most effective of
the New Deal measures, probably because it was based on the belief, originating with
the Puritans and almost universally accepted among later Americans, that working for
one’s livelihood is honourable and dignified, but receiving help which one doesn’t
earn — “charity” — is demeaning and robs people of their independence and their sense
of their worth. Financed by taxes collected by the Federal government, the WPA
created millions of jobs by undertaking the construction of roads, bridges, airports,
hospitals, parks and public building.

Although the WPA was probably more expensive than a system of handouts, it
kept workers on the job, thus preserving their skills and their self-respect. In a series
of friendly radio broadcasts — “fireside chats” — the President explained his policies to
the public.

The President was greatly helped by his wife, Eleanor Roosevelt, who had
special interest in the needs of children, minorities, women and the poor. Traveling
nearly to hundred days a year, visiting with southern blacks and migrant workers, she
absorbed an unprecedented knowledge that allowed her to determine which of her
husband’s programs were working or failing, wasteful or underfunded. And when she
returned, in contrast to the filtered accounts that deferential subordinates too often
provide their superior, she was brutally honest in telling Franklin what she had seen,
giving him the base of knowledge he needed to alter his programs or change his
approach.

Although the economy improved as a result of Roosevelt’s program of
government intervention, it took the defence build-up prior to America’s entering the
Second World War to end the Depression. This build-up, undertaken to aid the allies

of the United States in their battle against aggression, absorbed the surplus manpower
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into war industries and the armed forces. But many Americans, young and old, still
feel great affection for Franklin D. Roosevelt, the president who remembered “the
forgotten man at the bottom of the economic pyramid”.

—
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10.
1.
12.
13.
14.
15.

16.
17.
18.
19.

20.
21.
22.
23.
24.

25.
26.
27.
28.
209.
30.
31.

Vocabulary
. roaring — 1) mrymHbIi, OypHBIA, TPOMKHIi; 2) TPOLBETAOIINI, 0’KHUBICHHBIH
to prosper — IpOLBETAThH
. 'Increase — pOCT, YBeJIMYEHUE, BO3pacTaHHe
to in'crease = — yBeIUYHMBaTh, PaCTU
to fuel — 1) 3anpaBnsATh TOIJIMBOM; 2) IUTATh, IOJINUTHIBATH
stock market — cdonmoBas Oupxa; ypoBeHb I1eH Ha OHpIKe
to speculate — 1) pa3MbITIIAT;
2) CrieKyIupoBaTh, UrPaTh HA OUPKE
disparity — HECOOTBETCTBHUE, HEPABEHCTBO, PA3JIMYHE
. purchasing capacity — TIOKyTaTebCcKasi CIOCOOHOCTh
. to earn — 3apabaThIBaTh; earner — pabOTHUK, CITy KAl
(wage earner, salary earner)
dubious — COMHUTEIbHBIN
to herald — BO3BENIATh, MTPEBEILATh
to clear all the transactions — opopMuTh Bce ClIeTKH
share — aKius, mau
securities — IIEHHbIE Oymaru
holdings — 1) Bknagel, 2) BnageHue (aKIusMH),
3) uMy1ecTBO (HEIBU)KMMOE)
to borrow — 3aHUMATh
loan — 3aéM, ccyzia
to make ends meet — CBOJIMTH KOHIIBI C KOHI[AMU
to foreclose — JINIIATH TIPaBa MOJb30BaHUS, JINIIATH TIPaBa BHIKyTIA
3aJI0)KEHHOTO UMYIIIECTBA
interest — MPOLICHTHI (HA KaMUTall), IPOLIEHTHBIN 10X0/
interest rates — IPOILIEHTHAs CTaBKa, HOpMa MPOLICHTa
relief fund — (hoH TOCOOU WITK TOMOIIU
to resound — 3By4aTh, OTJABATHCS IXOM
deal — 1) cnenka, cornaimieHue;
2) amep. IOTUTUYECKUHN KypC, SKOHOMUYECKAS
MOJINTUKA
bargain — TOProBas cJiejiKa, JI0r0BOp
handout — amep. MAJIOCTBIHSI, IOTAsSTHUE
deferential — TIOYTUTEITHHBIN
to aid =to help
to halt = to stop
to alter = to change
emergency — Ype3BbIUaliHas CUTYAITUs

Answer the following questions.

l.

How does the period between 1919 and 1929 called?
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2. What changes were happening in the American economy at that time?
3. Why is Thursday October 24 called “Black Thursday’?
4. What happened to share and security prices during the stock market crash?
5. In what way did people attempt to save their money from the stock market crash?
6. How did “panic selling” affect the situation?
7. What was the economic situation like during the Great Depression?
8. What measures did President Hoover take to deal with the emergency?
9. What kind of person was President Roosevelt?
10. What measures did he take to improve the economy?
11. Why do many Americans still remember President Roosevelt?
12. How did Mrs. Roosevelt help her husband?

Grammar Study and Practice

Note!
I. Ecnu o0ea cywecmeumenbHblX C1e0yi0om o0O0HO 34 Opy2uUM, nepeoe CAylHcum
onpeodenenuem Ko émopomy. OHu nepesoosamcs cnpasa HaNe6o:

electricity use — nompeo.aenue nekmpuvecmaea;

unemployment benefit — nocooue no oezpabomuuye.
Obpamume 6HUMAHUeE, UMO 6CA ZPYNNA, CHOAWAA C1€6d OM CYULECHIGUMEIbHOZO,
Modcem @KnOYams Heckoavko onpedenenui. Ilepeeooumsv cnedyem Hauunas c
ONpedensemozo CywiecmeumenbHo20, CHpaea Ha1e6o.
ATpuOyTUBHBIE TPYIIIbI, COCTOSIIUE U3 HECKOJIBKUX CJIOB:
the Reconstruction Finance Corporation — @uHaHCcOBas Kopropamus 10
BOCCTAHOBJICHUIO
reforestation and flood control projects — mporpamma BOCCTAHOBJICHHS JIECOB U
O00pbObI C HABOJTHEHUSIMU
the Tennessee Valley Authority — amMuaMCTparus 10JuHBI TeHHECH
the Tennessee River Area — paiion pexu TeHHecu
the Wagner Labour Relations Act — 3akon Baraepa o Tpy0BbIX OTHOIICHHSIX
the Social Security Act — 3akoH 0 COIMATILHOM CTPaXOBaHUU
unfair employment practices — HeuecTHbIE TPUEMbI HaliMa
the Works Progress Administration — agMuHUCTpaIys OOIIECTBEHHBIX padbOT

II. Koncmpykuyus it_takes ... ¢ uHpunumueom ykazvigaem Ha epems UIU YCA06UA,
HeoOXo0uMmble 0151 0CyuiecmesieHus 0eliCmausl, 8blPAHCEHHO20 UHPUHUMUBOM:

. it took exchange clerks until five o’clock a.m. the next day to clear all the
transactions — ... ciykaiue Oupxu 0(hOPMIIIN BCE CICIKU MOJIbKO K TISATH yTpa.
... it took the defence build-up prior to America’s entering the Second World War
to end the Depression - ... genpeccusi MpeKpaTUiach mojibko C POCTOM OOOPOHHOMA
MPOMBILIJICHHOCTH TI€pe]l BCTYIUIEHHEM AMEPUKHU BO BTOpY10 MUPOBYIO BOMHY.

Translate the following sentences into Russian.

1. It will take a few minutes to get the insurance policies together. 2. It took the
family twenty years to pay the mortgage on their house. 3. It took Adam to recognize
Cyrus, and much longer to get used to him. 4. There were perhaps forty men waiting
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outside. It would take the doctor the best part of the day to examine them all properly
— an impossible situation. 5. It took Tom five days to cross the short distance into
Georgia. 6. It took me some months to recover my health after my son was born. 7. It
took the King a month to gather all his forces from the whole of England.

III. B Ovimuiinbix npeonodceHusax, 0003HAUAIOWUX CYULECMB08AHUE WU NOABIEHUE
KaKo2o-1ubo  npeomema  uiu  A6JIE€HUA, NoOJeyHcaujee  ynompeonasemca ¢
HeonpeoeneHHbIM apMuUKiem (60 MHOMICECMEEHHOM YUCe apMUKIbL OMCYmCcmeyem), a
2/142071-CKa3yemoe yKa3vlgaem HA CYu{eCmeoéanue uiu G03HUKHOGEHUE OAHHO20
npeomema unu aenenusn. Ilpu nepeeode noododOHBIX npeodIoCeHUll pPeKOMEHOYemc:
MEHAMb NOPAOOK CI108, 8IHOCA NOOTIEHCAUee HA NOCTIeOHee MECHO 8 NPEONOHCEHUU.

... a full-blown panic ensued — ...nocredosana/paspaszuniacy HaCTOSINAS TAHAKA

A wave of panic selling of stocks swept the New York Stock Exchange. — Hpio-
ﬁopKCKyIO OUPKY oxXeamuia NAHUKA: BCE TIPOJIaBAIN aAKIIUH.

Bread lines appeared in most cities. — B 6onbuuuncmee 20po0os nossuiucs xieouvle
ouepeou.

Translate the following sentences into Russian.

1. Willie entered the office. A woman of thirty-seven or so sat at the desk. 2. A horrid
sight confronted him on the bridge. 3. A shadow fell across the page of his book.
Looking up, he saw Stillwell standing in the doorway. 4. A tall, dark man came to the
door of the hut. 5. After World War I, customs duties were introduced in Britain with
the aim of protecting and encouraging certain key industries. 6. A number of studies
have been carried out to establish the relationship between unemployment and crime.
7. Attempts have been made to solve this problem. 8. A huge red truck stood in front
of a little roadside restaurant. 9. An emergency meeting of the government was held
on Tuesday. 10. A number of techniques have been worked out to measure air and
water pollution. 11. A university was established in Constantinople in 425, teaching
being conducted both in Latin and Greek. 12. In the early 1330s an outbreak of
deadly bubonic plague occurred in China. It was only a matter of time before the
outbreak of plague in China spread to Western Asia and Europe.

Comment on the following statement:

Working for one’s livelihood is honourable and dignified, but receiving help which
one doesn’t earn — “charity” — is demeaning and robs people of their independence
and their sense of their worth.

Discuss the issues of unemployment and unemployment benefits in the light of this
Statement.

Text 5. Retailing

The retailer performs the last stage of the production process for it is he who
puts the goods in the hands of the actual customers. His work is “to have the right
goods in the right place at the right time”.
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There are four types of retail institutions: 1) specialty stores; 2) supermarkets;
3) general merchandise stores; 4) nonstore retailing.

Often specialty stores sell one type of product, such as clothing, jewelry,
furniture, books. These stores having a better feeling of their market, they compete
against giant department stores. They can adjust more quickly to market conditions.

Big supermarkets are usually well located. All the goods are arranged on trays
and shelves. All the prices are clearly marked. The goods are ready-weighed and
beautifully packed. There you can find everything you need. The prices are
reasonable.

General merchandise stores (GMS) carry a wide variety of products. There are
three types of GMS: a) department stores; b) discount stores; c) hypermarkets. Big
department stores started in America more than 50 years ago, and then the idea was
brought to European countries. These stores are wonderful places. People can do all
their shopping under one roof. All the things for sale are displayed so that they can be
easily seen, and the customers walk around and choose what they want.

The store is divided into departments: women’s clothes, men’s clothes, shoes,
sports goods, china and glass etc. There may be a restaurant with an orchestra and
sometimes a tea-room as well. You will also find a room where you can rest if you
are tired. There’s an office where you can book seats for the theatre or arrange to
travel anywhere in the world.

Low price is the major attraction of the discount stores. These stores sell the
most popular items, colors and sizes. The stores keep long hours and usually open on
Sunday. Hypermarket is a type of discount store that was developed in Germany.
They are very large stores with low-price and high-turnover products. Hypermarkets
achieve cost savings by simplifying their unpacking and display.

There are three major types of nonstore retailing: a) vending machines;
b) door-to-door sales, and ¢) catalogue sales.

Vocabulary
1. retailer — PO3HUYHBIN TOPrOBELL
retailing — PO3HUYHAs TOPTOBJIS
2. specialty store — CHeUATN3UPOBAaHHBIM Mara3uH pO3HUYHON TOPTOBIU
3. supermarket — CynepMapKeT, yHUBepCcaM, Mara3uH ¢ caMo00CTyKUBAHUEM
4. general merchandise store — Mara3uH co CMeIIaHHBIM TOBapPOM
5. nonstore retailing — IIpoJIayka MIOMHMO Mara3uHa
6. department store — yHUBEpMAr
7. discount store — PO3HUYHBIA Mara3uH, TOPryOIIUM 10 CHUKEHHBIM LIEHAM
8. hypermarket — TUTAHTCKUM CyNepMapKeT, TOPTrOBbIN HEHTP
9. turnover — 006opoT, TOBapooOGOpoT
10. vending machines — TOProBbIE aBTOMATHI
11. door-to-door sales — MpoJiaXka Yepe3 TOPTOBBIX areHTOB Ha JOMY
12. catalogue sales — MPOJAXa C MOMOIIBIO KaTAJIOTOB

Answer the following questions.
1. What are the types of retail institutions?

2. What are the advantages of specialty stores?
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3. What do supermarkets sell?
4. What are the three major types of nonstore retailing?

Text 6. Wholesaling

Wholesalers are institutions which stand between the manufacturer and the
retailer. The wholesaler buys goods in bulk from producers and sells them in small
quantities to retailers. In doing so he helps the production process. If you had an
intention to be a successful manufacturer, you would make high quality products at a
reasonable price for selected markets. If you intended to be a wholesaler, you would
learn how to serve the market.

Wholesaler economizes the distribution. The most important function of a
wholesaler is to contact manufacturers and potential customers. Thus nine contacts
and deliveries are necessary if three firms supply directly three retailers, whereas
each producer deals only with a wholesaler, reducing the total number of transactions
to six.

Wholesalers are used for information and advice. Suggestions which customers
make to the retailer are passed to the wholesaler who conveys them to the
manufacturer. Thus the latter can improve his product.

The wholesaler keeps stocks. Shoppers like to obtain goods immediately. This
requires stocks. Often, however, neither the producer nor the retailer has extensive
storage facilities and responsibility falls on the wholesaler.

Moreover he arranges imports from abroad. Foreign manufacturers can rarely
bother to ship small parcels to individual retailers abroad. They prefer to deal with a
wholesaler, an import merchant with established trade connections.

Wholesalers may be classified into three groups: manufacturer — owned
operations, merchant wholesalers and merchandise agents and brokers.
Manufacturers can establish their own wholesaling office or branch, the latter
providing more services to its customers. Depending on the industry or geographical
location merchant wholesalers are called distributors, jobbers, or dealers. Among
merchandise agents there are selling agents, brokers, commission agents and action
companies. They are all compensated by either a commission or a brokerage fee.

Vocabulary

1. wholesaling — OTTOBAs MpoaaXa

2. manufacturer, producer — npou3BOIUTEND

3. quantity — KOJIMYECTBO

4. quality — KauecTBO

5. distribution — pacmpeeneHue

6. stock — 3amachl, aCCOPTUMEHT, (POHT

7. merchant-wholesaler = — onroBHK

8. merchandise agent — TOPrOBBIN areHT

9. dealer — TOPrOBell, MOCPETHUK, TUIIEP
10. broker — OpoKep, MOCPETHUK
11. distributor — pacnpeaenuTeNbHas opranu3anus, GoH
12. jobber — YeJIOBEK, paboTaroIUi C/EIBbHO; ONTOBBIN TOPTOBEIl
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13. brokerage fee — KOMHCCHOHHOE BO3HArpaxJeHue, KypTax
Answer the following questions.

1. What is a wholesaler?

2. What role does the wholesaler play in the economy?

3. Would it be better without wholesalers? Explain.

4. What is the most important function of a wholesaler?

Text 7. Unemployment

We say that unemployment exists where people capable and willing to work
are unable to find suitable paid employment. But where an economy is adapting to
changing conditions, there will always be some persons unemployed as they change
jobs or as seasonal work comes to an end.

Unemployment may occur for many different reasons. There will always be
some people changing jobs. In certain occupations, e.g. unskilled labour in the
construction industry, workers are not employed regularly by one employer. When a
contract is completed labour is not required. Occasionally workers are discharged
when a factory is being reorganized.

Unemployed workers usually register at the local unemployment exchange
from which employers can hire them. The unemployed are paid certain benefits.

Unemployment in some industries, e.g. building, fruitpicking is seasonal in
character. Seasonal employment can be reduced out of “season” and admit such
persons as students and housewives during the busy period. Sometimes there are
unemployed workers of a particular occupation in one part of the country but a
shortage of the same type of work in other parts. Thus today there is a surplus of
unskilled and manual labourers in the north of England, whereas firms in the London
area have vacancies unfilled. Two main reasons can be suggested for this type of
unemployment — ignorance of opportunities, and immobility of labour.

Workers may be in “between jobs”. Some of them are looking for better jobs,
others are seeking better salaries. Young people search for their first jobs. This is
called frictional unemployment. This type is usually short-term and regarded as
inevitable.

Unemployment may also be caused by important changes in the structure of
consumer demand and in technology. As a result some workers find that their skills
and experience are unwanted by these changes. This type of unemployment is more
long-term and regarded as more serious. It is known as structural unemployment.

The full-employment or natural rate of unemployment ranges between 5 and 6
percent.

Vocabulary
1. to exist — CyILIECTBOBATH
2. to employ — HAHUMATh, UCTIOJIb30BaTh
3. labour — TpyA
4. manual labour — py4HOii, pusnyeckuid Tpy
5. to discharge — YBOJIBHSTD
6. to hire — HAaHUMAaTh
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7. to regard — CUUTaTh, pacCCMaTPUBATh
. to seek — HCKaTh
9. frictional unemployment — ¢pukuronnas Oe3pabotuna (cBs3aHHas ¢ J00po-
BOJIHOW CMEHOM MecTa pabOThl U NEPUOIaMHU BPEMEHHOT'O YBOJILHEHUS)
10. inevitable — HEU30eXKHBIH

o0

Answer the following questions.

1. What types of unemployment can we distinguish?

2. Why is frictional unemployment regarded as inevitable?
3. What causes structural unemployment?

4. What is the national rate of unemployment?

Part II. TECHNOLOGY
Text 1. On Money

The word money comes from the name of the Roman goddess Moneta in
whose temple silver coins were made. Money did not always look like our money.
Sometimes it was a ring or an ornament, or just a slab of gold or silver, from which
coins were made. Still later cheaper metals replaced gold and silver.

British coins are made in the Royal Mint'. The metals come in the form of
slabs. The right proportion of each metal for the sort of coin being made, are put into
large graphite pots and melted in very hot furnaces for two hours.

Then the metal is poured into moulds which have the shape of bars and left to
cool. The bars of metal go through heavy rollers and become thin metal strips. The
strips go into another machine which stamps out circles in them. The circles drop into
a box. The waste metal is collected and remelted.

Next the circles are annealed: they are heated to red-hot and then dropped into
cold water. During the process of annealing the copper takes some of the oxygen
from the air. As a result a thin layer of copper oxide appears on the surface of the
circle, which is removed with a weak solution of sulphuric acid.

While hot the circles are stamped®, and also pass through a special pressing
machine which raises a rim on the coin. (The rim will help the coin to live longer) In
stamping the soft circle of the future coin is pressed above and below by two pieces
of metal called dies. The upper die stamps the heads of the coin and the lower die
stamps the tails. While being stamped’ the coin becomes hard again. When the coins
are ready they are counted on an automatic machine, and inspected by hand. Then
they are recounted and bagged up by machine, tied up and weighed and sent to the
bank. The British monetary system was very complicated. The biggest unit is the
pound (£). One pound has 20 shillings (s): £ 1 = 20 s. one shilling has 12 pennies (d):
1 s =12 d. (Compare this to the Russian rouble (100 copecks), American dollar (100
cents), etc.)

! the Royal Mint — KoposieBckuii MOHETHbI# JBOP
> While hot the circles are stamped — IToka Kpy»O04KH He OCTBITH, HX IITAMITYIOT
? While being stamped — npu mrammoske
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Changes have taken place in the British monetary system. One pound has 100
pennies. The new penny is 2.4 of the past penny. The new system is a decimal
system.

Vocabulary
1. abar — Opycok
2. to anneal — 3aKaJISTh
3. copper — M€Jlb
4. oxide — OKHUCh
5. sulphuric acid — CepHasi KUCJIOTa
6. die — IITaMII
7. head(s) — aBepc = «OpEm» MOHETHI
tail(s) — PEBEPC = «PEIIKA» MOHETHI
8. red-hot — packaneHHbIN
9. to stamp (out) — IITaMIIOBATh
10. a decimal system — mecsTuuyHas cucrema
Text 2. How Wool Is Made

Wool manufacturing is a process that takes up much time and work. After
shearing on a sheep-farm the fleeces are sorted out. One and the same fleece has
wools of different qualities: the harsher ones coming from round the neck of the
sheep'. At the mill a fleece is cut into smaller pieces, each grade going into a separate
bin’.

Next the grease and dirt are washed away. After that the fleeces are dipped in
sulphuric acid and then dried at a very high temperature. This is done to rid the
fleeces of the burrs. Becoming brittle they break easily and are then shaken out as
dust.

Acid and other chemicals are added to the grease water to separate the grease
out. The grease is used in the production of creams, polishes, soap, etc. Next the wool
is sprayed with oil. This is done to hold it together and to reduce the friction and
static electricity when the wool passes over the machinery.

Then it passes over a series of rollers with fine metal teeth which tangle and
straighten the wool fibres in turn, the finer teethed rollers being used at the end of the
process’. Thus a soft, gauzy, sheet of wool is made. This process is called carding the
wool.

Then the wool passes between long leather strips, which pull out the fibres and
roll them into a loose rope of wool ready for spinning on a machine called a mule.
The mule draws out and twists the rope several times, before it is wound on a bobbin.

! the harsher ones coming from round the neck of the sheep — Gonee rpyGbie copTa IIEPCTH MOIYYAKT C HACTPUTa
BOKDYT IIEH OBIIBI
* each grade going into a separate bin — s Ka%/I0r0 COpTa €CTh OT/E/bHbIH OyHKep
? the finer teethed rollers being used at the end of the process — camble TOHKHE 3yObsi HCIOIB3YIOTCS B KOHIE TOTO
nporuecca
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The bobbins are set up on the weaving looms. One set of threads, called the
warp, goes from end to end of the loom. Another set of threads, called the weft, goes
in and out of the warp threads with the help of a special long bar with teeth called a
shuttle.

This is how we get the wool for our clothes.

Vocabulary
1. fleece — OBEYbsI IIEPCTh, PYHO
2. sulphuric acid — cepHas KHCJIoTa
3. burr — IIIMII, KOJIIOYKa, pere
4. brittle — XpYIKUH, JOMKUN
5. greasy [gri:zi] — CaJIbHBIH, )KUPHBII; HEMBITHIN (O IIEPCTH)
6. polish — MOJHUPOBKA, TOJTUTYpa
7. friction — TpeHUe
8. to tangle — CIIyThIBAaTh
9. gauzy [go:zi] — TOHKH, MPOCBEUUBAIOIINMA
10. to card the wool — 4ecarhb EePCTh
11. carding-machine — YyecalibHasi MalluHa
12. loose — CBOOO/IHBIN, HETYTOM, CJ1a0bIi
13. mule — MIOJIb-MaIlIHAa (TEKCTHIIb )
14. loom — TKALIKUWA CTAaHOK
15. warp [wo:p] — OCHOBA (TKaHM)
16. weft — YTOK (TEKCTHIJIb)
17. bar — Opycok
18. shuttle — YEJIHOK
19. rollers — BaJIbl, BAJIKU (ITPOKATHOE YCTPOMCTBO)
Text 3. Cotton Production

The fruit of the cotton plant is called the boll. When bolls are picked the seeds
are separated from the cotton fibres. Cotton oil made from the seeds is used for salad
cream and in the production of soap. The fuzz round the seeds is used in the
production of rayon (it is rich in cellulose which is the basis of rayon).

The cotton is taken to cotton mills, where several machines pull at the tangles
in the fibres. Strong currents of air pull away dirt and pieces of seed until the cotton
looks like a filmy fleece.

The fibres are next separated on the rollers of a carding machine and then they
pass through thin tubes to form flat ribbons or s/ivers. The slivers go into a drawing
frame, where they are put evenly side by side with several hundred of them made into
one fat sliver. This fat sliver is drawn out through rollers to make a fine strong thread.
The thread is then wound on a bobbin. Two threads are twisted together on a
spinning-machine and wound into spools ready for weaving.

Weaving cotton is more difficult than weaving wool, for the threads are much
thinner. But the principle is the same. The warp threads are threaded up through
bobbins on a special frame while the weft threads are woven through at right angles
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to the warp threads.

The cloth is then passed on to be bleached, dyed or painted. Before bleaching it
passes through red-hot copper plates to single the fluffy fibres off the surface. Then
the cloth is placed in a chlorine bath which makes it white. After that it is washed
thoroughly. Next it may be placed in a bath of sodium hydroxide (caustic soda) to get
a sheen. Finally it goes to be dyed or printed with ink dyes between very big rollers.

That is how cotton is made.

Vocabulary
1. boll [boul] — ceMeHHas Kopobouka (00T.)
2. seeds — CeMEeHa
3. fibres [faibaz] — BOJIOKHA
4. fuzz — MyIIMHKH, BOJIOCKH (CEMSIH)
5. rayon — UCKYCCTBEHHBIN IIETIK
6. tangles — CIIyTaHHbBIC KITyOKH, CTUICTCHHUS
7. fleece — OBEYbsI MEPCTh; MATKASI Macca, HAIOMUHAIOIIAS PYyHO;
Hayvec; BOpC
8. filmy — TOHKHMM KaK nayTUHa
9. carding machine — KapjoyecaiabHas MalluHa
10. sliver [sliva] — JIeHTa, Ipsab (IIEePCTH, XJIOMKA)
11. drawing — BBITATHBAHUE, BBITSKKA
12. spinning machine — IpsAAUIbHAS MalllMHA, MAITuHA JUIsl CKPYYUBaHUS
13. spool — KaTylIiKa, Imimyisi, 0001uHa
14. to weave (wove, woven) — TKaTh
15. warp threads — HUTHU, OCHOBBI (TKaHH ), OCHOBHBIE HUTHU
16. weft — YTOK (TEKCTHIJIb)
17. to bleach — oTOeNnMBaTh, 00eCIBEYNBATh
18. to dye — KpacuTh
19. red-hot — packaneHHbIN
20. sheen — OJIECK, CUSHHUE, JTOCK
Text 4. Sick Building Shocker

New research shows the vast majority of modern-day materials are damaging the
health of residents and office workers. Less than a third of building materials currently
used in Russian construction are ecologically safe, a new study has shown.

Research into some 500 types of building materials in Russia conducted by the
EcoStandart Group, which specializes in environmental studies, has revealed that just
20 per cent to 30 per cent of such materials do not pose a health hazard.

“We have reached the conclusion that there are a lot of materials of poor
quality on the market today”, Nikolai Krivozertsev, director of business development
at EcoStandart, told RIA Novosti. “About 30 per cent are problematic materials with
very serious violations of ecological standards. For example, using paint or finish
from this category can lead to considerable excesses of the allowed levels of
formaldehyde”.

Even when materials meet the required standards on their own, another 50 per
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cent can still be dangerously toxic when paired with another “safe” substance.

“For instance, let’s take insulator and finish. Separately, these materials have
0.8 maximum concentration [of toxic elements]. Taken separately, they do not exceed
the ecological norms, but taken together they can negatively affect the health of the
resident”.

That leaves only 20 per cent to 30 per cent of quality materials.

According to Krivozertsev, substandard building materials are polluting the air
and affecting the health of Muscovites. Concrete, plaster, paint, finish and carpeting
can give off dangerous chemicals when these materials do not meet ecological
standards. This in turn can have a negative effect on people’s immune systems and
even cause diseases of the liver, kidneys, central nervous system and the respiratory
system.

“The best way to fight chemical pollution is to vent the air in your apartment”,
he said. “But for city residents, this is not always possible”.

Krivozertsev proposed a few simple rules for building homes that would be
safe for people to live in. The first is conducting radiation tests for bricks and
concrete. Then, during the building process, it is best to avoid using materials with
unusual properties such as higher elasticity and the ability to dry quicker because
these materials tend to contain various chemical additives. Finally, once construction
1s complete, the building must be examined for ecological violations.

Vocabulary
1. to damage the health — BPEIUTH 310POBbIO
2. to pose a health hazard — €03/1aBaTh OMACHOCTH JJIS 3/10POBbS
3. violations of standards — HapyILIEHUE CTaHIapPTOB
4. finish — MOJIMPOBKA; OTIEIKa
5. to meet the required standards — cooTBeTCTBOBaTH TPEOYEMBIM CTaHAAPTAM
6. insulator — M30JISIIMOHHBIN MaTepua
7. concrete — OeToH
8. to avoid using materials — u30eraTb UCMHOJIb30BAHUS MAaTEPUATIOB
9. chemical additives — XUMUYEeCKue J00aBKU
0. shocker — IypHOI1 00pasen, 4To-To MOTpscarolIee
1. to vent — MPOBETPUBAThH, BEHTHUIINPOBATH
Text 5. Air Conditioners under Fire

City authorities have been threatening an aggressive campaign against ugly air
conditioner units, but uncertainty remains over how they will proceed.

Authorities originally announced their intentions to target the installation of
unsightly externally-mounted air conditioners and reiterated the call for their
removal. Speaking at a press conference Moscow’s chief architect, Alexander
Kuzmin, promised to fight air conditioners that disfigure urban facades.

“Air conditioning devices and antennas can be mounted so that not every part
of the facade is peppered with them, and each house can be designed differently, with
special places for these devices”, Kuzmin said. “If a person simply attaches such
things wherever he wants, there’s a good chance that it could just fall off. And of
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course, it ruins the outer appearance of the building”.

Kuzmin stressed that authorities were preparing a law on the appearance of the
city, in which this question would be addressed in detail, RIA Novosti reported.

Over the past decade buildings in Moscow have become increasingly dotted
with devices such as air conditioners, satellite dishes and antennas, leading to the
buildings resembling industrially ornamented Christmas tress.

Kuzmin said that it remained to be worked out how the duty of “preserving the
outer appearance of facades” would be enforced — as a separate legal act, or through
amendments to the City Planning Code. He added that at present there is no legal
framework to deal with these issues, and taking care of buildings’ appearance rests
solely on the managers of organisations or owners of non-residential buildings.
Kuzmin added that after adjusting the legislation, uniform requirements for the
improvement of facades would be established.

The chief architect said that the fight against air conditioners would begin at
“home” — his office looks out into the courtyard, but on the facade of the
Moskomarkhitektura building, facing Triumfalnaya Ploshchad, there are no fewer
than 10 apparatuses of various sizes and shapes.

“It’s not easily. But we will solve the problem”, he said.

Vocabulary
1. to target — JeNaTh KOro-TO (YTO-TO) MUIIIEHBIO
2. ugly — 0e300pa3HbIi
3. to threaten — yrpoXaTh
4. to announce — 3asIBUTH
5. installation — yCTaHOBKa
6. to mount — yCTaHaBJIMWBaTh, MOHTUPOBATH
7. to pepper with  — yceuBath (= to dot with)
8. to attach — MPUKPEIUIATD
9. tress — Oaxpoma, MuIIypa
10. amendments — TOTIPABKH, I0MOJIHEHHUS
11. issue = problem, question
12. legal framework — 3akoHomarenbHasi OCHOBA (PaMKH)
Part I1I. BUSINESS ENTREPRENEUR
Text 1. Russia Celebrates Day of the Entrepreneur

Russia’s businessmen have now been given their own national day in honor of
their fledgling profession. The Day of the Entrepreneur was recognized for the first time
on Monday the 26™ of May 2006, marking 20 years since the law on cooperatives.

Throughout Russia, conferences and forums were held to discuss the future of
small and medium-sized businesses. In the Moscow region there were concerts, along
with awards and prizes for the top local businesses.

Small and medium-sized industries form the basis for most modern economies,
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but in Russia only 20 percent of people work in these businesses. In the US, for
example, small businesses contribute 60 to 80 percent of new job growth and 51
percent of total employment. By contrast, the Russian economy is currently
dominated by large, industrial monopolies. However, Medvedev recently stated that
60 to 70 percent of people will work in small businesses by 2020.

The Moscow Chamber of Commerce also organized forums to celebrate the
day, primarily discussing the role of enterprises in society. Suren Vardanyan of the
Chamber commented that it is important to “create a positive image of businessmen
in the community”.

Vardanyan also noted that entrepreneurs contribute 40 percent of regional tax
payments and promote stability. Although entrepreneurs are now playing a more
active role supporting charities, he feels there is still more they can do.

He was also optimistic about meeting Medvedev’s target of 60 percent
employment in small businesses, although he warned that they would have to “work
very hard to get this result”.

To achieve this some significant changes in business regulations would be
necessary. Complex bureaucratic procedures make conditions for small or new
businesses tough.

In 2005, then President Vladimir Putin declared that anyone who opened a
business deserved a medal for bravery.

“I’m not talking about taxation now; we know that efforts are being made to
simplify the system. But registering a company is impossible”, he added. These
problems remain.

Last month, Deputy Primer Minister Alexander Zhukov announced that the
first meeting of the Government Commission for the Development of Small and
Medium Business. According to Zhukov, the assembled guests discussed “a series
measures to support and develop these kinds of businesses”.

Vardanyan has noticed that the bureaucracy for new businesses has become
lighter in recent years. Companies have to file tax reports annually, rather than
quarterly, and that registering companies is easier now.

He added that the main problem is that companies still have problems getting
government contracts. “We need to move from government to business” he stated,
saying that this would improve efficiency and help new companies develop.

Others were less optimistic about the impact of the Day of the Entrepreneur.
Yevgeny Gontmaher, director of the Centre for Social Policy Institute of Economics
at the Russian Academy of Sciences told that the day “is all bows”. Rather than
simple decorations, “it is necessary to solve the underlying social, political and
economic problems” he said.

Although the Day of the Entrepreneur may not seem glamorous compared to
other holidays, it has highlighted some of the fundamental challenges needed in the
Russian economy. These discussions now need to be transformed into support that
would allow small businesses to thrive.

Vocabulary
1. fledgling profession — HayuHaw1as GopMUPOBATHCS (KOMEPATHCS)

npodeccus
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2. entrepreneur — IpeaNpUHUMATETb

3. charity — OJIaroTBOPUTENBHOCTD

4. to employ — HaHUMAaTh Ha padoTy
employment — 3aHATOCTh

5. tax — HaJIoT
taxation — HAJIOr000JIOKEHUE

Text 2. City Declares War on Kiosks

Moscow officials have once again declared war on kiosks and street vendors, this
time promising to slash the number of retail points by more than four times — from 16,000
to 3,000.

“There should not be 16,000 retail points, but 3,000 out of 16,000. They will
be present in the capital, but they will have a more civilized appearance”, Georgy
Smolensky, deputy director of Moscow’s consumer market department, was quoted
by RIA Novosti as saying at a City Duma committee on economic policy and
entrepreneurship.

Smolensky believes that the problem is that street vendors have licenses to sell
500 types of products, and 300 of those are food products, which could pose potential
food sanitation hazards.

“Kiosks should have a confirmed assortment of products which they can
store”, he said.

But that doesn’t forebode an end to street vending in the capital, city officials
say. The practice simply needs to be regulated better. Smolensky said that some of
Moscow’s newer districts, where grocery stores remain sparse, will keep their kiosks.
“The main thing 1s that Muscovites should be supplied”, he said.

“Small retailers should exist in the city. There is no way to get rid of printed
press, flowers, ice cream. But we certainly don’t need bananas or beer. There is no
problem with finding places to have a beer in Moscow”.

Moscow authorities have been moving to rid the capital of “non-stationary”
retail facilities for several years. The goal was to have only stands that sold
newspapers, flowers, transportation tickets and fast food by 2011. In 2009, officials
had planned to remove 1,500 retail stands — some 20 per cent of small retail in the
city. But the financial crisis has put their plans on hold.

Officials in January said that the programme to remove kiosks from the city
would be delayed to help small business get through tough economic conditions.

Vocabulary
1. street vendors — YJIMYHBIE TOPTOBIIBI
2. to slash — PE3KO coKpaliaTh
3. retail points — IYHKTbl PO3HUYHON TOPrOBIIU
4. sparse — PEAKUNA, CKYIHbIN
5. to forebode — IpeJIBEIaTh, IPEICKa3bIBATh
6. to get rid of — OCBOOOHUTHCS, M30ABUTHCS
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Text 3. The Stock Exchange

If you are a shareholder and you want to get back the money you have put into
a company, you must sell your shares at the Stock Exchange. The Stock Exchange is
a place where shares are bought and sold.

The price of share is controlled by the amount of people willing to pay for
them.

If the company is making a profit, other people may want to buy shares in it, so
you may be able to sell the shares at a higher price than you paid for them. If you
bought 100 shares at 1.00 pound each and you sold them later at 1.50 each, you
would make a 50 pound profit on the 100 shares, as well as keeping any dividend
paid during the period when you owned the shares.

But if business in not going quite well, other people may not be willing to pay
as much as 1.00 pound a share. If they think the company may do well in the end,
they might pay 80 pence a share. If the business is really failing no one will buy the
shares at all and you risk losing all your money.

The first Stock Exchange was established in 1773 in London. It was the biggest
in the world until 1914. Now it is the third to Tokyo and New York. The building as
it stands today dates from 1969.

Vocabulary
1. share — 107151, aKIUs
2. shareholder — aKIMOHEP
3. Stock Exchange — donmoBas Oupxa
4. amount — KOJINYECTBO
5. to fail — TepIeTh HEeyAady, Kpax; 00aHKPOTHTHCS
6. profit — IOXOJ
7. to be willing — XOTETb, KeJlaTh
Text 4. Inflation

Prices of nearly all goods and services have moved in recent history. Inflation
is the process of rising prices or, what is the same thing — a fall in the value of money.
Each of us is becoming adjusting to inflation.

At the beginning a rising level may not be considered dangerous. It improves
the climate for investment, reduces payments of the National Debt.

The problem, however, is that when the rise in prices starts, it is difficult to
stop it. Gradually the rate of inflation increases, it may lead to hyperinflation.

Inflation reduces the standard of living of persons dependent on fixed incomes,
as pensioners. But on the other hand it is easier to pay debts. Not all the prices are
rising. Even during rather rapid inflation some prices may be constant and others
even fall.

Inflation may occur for many different reasons. Traditionally changes in the
price level have been explained by an excess of total demand. The essence of this
kind of inflation may be expressed in the phrase “too much money chasing too few

goods”.
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In this case we see long queues of shoppers to make purchases. Stocks of
goods available are less than the quantity of goods that the consumers are willing to
buy. Besides, there are some black markets in which people buy things at prices
much higher than they should be.

There are other factors causing inflation. There were some periods in our
economic history when the price level rose despite low demand. Sometimes the cost
of goods rises and this results in the rise of prices, or inflation. In this case the cost
makes the price level higher.

Inflation can create serious difficulties for a country dependent on
international trade, as Britain has discovered over the past thirty years. When the
level of internal prices rises in comparison with prices of foreign traders, imports
increase. Moreover exports are discouraged.

Thus, it is important that the control of inflation should be given priority in
government policy.

Vocabulary
1. goods and services — TOBaphl U YCIyru
2. to become adjusted — IPUCIIOCA0INBATHCS
3. level — YpOBEHb
4. debt — JTOJIT
5. rate — CTaBKa, HOpMa, pa3Mep, CKOPOCTh, TEMIT
6. to reduce — YMEHBIIATh
7. to increase — YBEJINYUBATH
8. excess — TIPEBBIICHHE, U30BITOK
9. demand — cpoc
10. essence — CYIIHOCTh
11. to chase — OXOTHUTHCS
12. to make purchases — JIe7aTh MOKYIKU
13. stock — ¢oHp, 3anac
14. available — JIOCTYIIHBIH
15. consumers — HoTpeduTenu
16. cost — CTOUMOCTb, CE0ECTOUMOCTD, U3AEPKKH (ITPOU3BOJICTBA)
17. to discourage — MeniaTh

Answer the questions.

1. What is inflation?

2. Does inflation mean that all prices are necessarily rising?

3. What are the reasons for inflation?

4. How does inflation influence the country dependent on international trade?

Text S. The Ideal Rich Man Found
Portrait of a wealthy Russian. Research on the affluent segment of Russian society

The number of wealthy Russians increased 2.5 times to 1.2 million people (0.8 per
cent of the population): 2003 — 0.48 min people, 2008 — 1.2 min people. Cumulative assets
consisted of 4.2 trillion roubles.
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! The optimistic variant ! The pessimistic variant

Three year will be required in order for the | Ten to 15 years will be required in order for
number of wealthy Russians to reach | the number of wealthy Russians to reach
2008’s level 2008’s level

[—

A recent study conducted by the Russian School of Economics in conjunction
with Citibank’s Citigold high-net-worth-client management group has set out to
describe the archetypal wealthy Russian individual. According to their results,
Russian citizens can be considered wealthy if their volume of available free capital
ranges from 1.3 million to 13 million roubles. This only takes into account material
means invested in liquid assets, excluding real estate.

The statistically average wealthy Russian is most often a 44-year-old, married
man with one child in the family. He is independent with his own private business or
is a top manager or director. His liquid assets consist of about 10 million roubles.

However, while not long ago the number of wealthy Russians was rapidly
increasing and veering away from the middle class, this year 15 per cent of these
people could no longer be considered wealthy. According to the research, in the best
case scenario, over the course of this year the number of rich Russians will drop to
1.02 million people and their cumulative assets will fall to 3.6 trillion roubles. It will
take three years for their numbers to reach their previous level.

Vocabulary
1. affluent — OoraTbiii
2. to value — LIEHUTD
3. cumulative — COBOKYIHBIN, KyMYJISITUBHBIN
4. assets — IMYIIECTBO, (PUHAHCOBHIC AKTHBBI
5. to take into account — y4UTBIBaTh, IPUHUMATh BO BHUMAHHE
6. personal (real) estate — nBIKMMOE (HEIBIXKMMOE) UMYIIIECTBO
7. to exclude — UCKJIIOYaTh
8. average — CpeIHUI
9. to veer away from  — OTKJIOHATHCSI OT
0. to drop to — IaJaTh, COKpamarscs 10
Text 6. Henry Ford as a Marketing Executive

Read the text and say how Henry Ford managed to reduce the price of his cars.

A statement by Henry Ford illustrates the importance of satisfying customers’
needs: “Our policy is to reduce the price, extend the operations and improve the
product. You will notice that the reduction of price comes first. We have never
considered any cost as fixed.

Therefore we first reduce the price to the point where we believe more sales
will result. Then we go ahead and try to make the prices. We do not bother about the
costs. The new price forces the costs down. The more usual way is to take costs and
then determine the price and although that method may be scientific in the narrow
sense, it 1s not scientific in the broad sense. I can explain why. The cost is worth
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knowing if it tells you that you cannot manufacture at a price at which the product
cannot be sold. One may calculate what a cost is and of course, all our costs are
carefully calculated, but no one knows what a cost ought to be”.

Although Henry Ford was known as a great production genius, he was also a
very good marketing executive. Ford realized that what the US wanted in the early
1900s was inexpensive automobile transportation. His procedure was first to
determine the price the market was willing to pay for a car and then to design a car
that could be manufactured at that price. During this period the price of his car fell
from § 850 to $ 263.

If Ford had used old methods for price calculation he wouldn’t have gained
such a success.

Vocabulary
1. to satisfy needs — YIIOBJIETBOPSTH 3aIIPOCHI
2. executive — PYKOBOJIUTEIb, CIICIIUAIACT
3. to reduce the price — cHIXXaTh IIEHY
4. cost — CTOMMOCTb
5. costs — pacxompl, U3AEPKKU
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